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- Which form of Shiva is engraved in the
Ghateshwar temple of Badoli?

(1) Child form (Baal roop)

(2) Nataraja

(3) Pashupati

(4) Ardhanarishwar

'(5) Question not attempted

- Whoi is the author of ‘Chhand Mayukh'?
(1 Su_]ajl (2) Ganpati
(3) Suryamall Mishran (4) Isardas

(5) Question not attempted

- The Rajputana state who had not attended the
imperial Durbar held at Delhi in the year 1903
was -

(1) Bikaner (2) Mewar

(3) Sirohi (4) Kota

(5) Question not'attempted

- Which among the following Rajput ruler d1d not
battle with Akbar?

(1) Maharana Pratap X

(2) Mota Raja Udai Singh

(3) Rao Chandra Sen

(4) Surtan Devra

(5) Question not attempted

- Nehri, Kather and Rathi are a form of which
dialect?

(1) Mewati (2) Hadoti

(3) Mewari (4) Bagdi

{5) Question not attempted

- The famous work painted at Chavand during the
times of Maharana Pratap is -

‘(1) Dhola-Maru (2) Pichhwai

(3) Raagmala (4) Ramayan

(5) Question not attempted

- In Bhil folk dance Gavari the artist who speaks

poetry in folk language is -
(1) Bhojai (2) Nut
(3) Jhamtaya {4) Raya

i

. Tl B TREER RN ¥ BE @ by @wy Bl

Sebol far = 87
(1) STy

(2) Fecs

(3) TRy

(@) JgaNEER
(5) SrgRa ue

\

. T T B A B

(2) ot
(4) SoReE™

(1) goir it
(3) e s
(5) srgaiRa o=

. ¥ 1903 ¥ R F oo T TER § WA

TE o T TSGRy o —

(1) fiBR (2) Hare

3) R (4) Bier

(5) orgelRa v

. FrfaRed % Q fra Tomg o 3 SBeR B
. Ry gg 8l fhar?

(1) FERIOT a9

(2) #rer <o Se g

(3) vIm TR

(4) g=aToT qasI

(5) Irf<ilRd U

L aﬁ?aﬁ?‘ﬂé’rﬁmaﬁ‘r%w%?

(1) Harh (2) =N

(3) STy (4) 9T

(5) arg=iRa U

- WER g @ w7 s § b afe
7R 4

(1) AT (2 fawag

(3) RTTTe (@)~ /

(5) IrgiRa weA
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10.

11.

12.

13,

The ruler of which state called a Conference
of Kings on 25-26 June, 1946 with the aim
of forming a Rajasthan Union?

(1) Maharana Bhoopal Singh of Udaipur

(2) Maharao Bhim Singh of Kota

(3) Maharawal Laxman Singh of Dungarpur

(4) Maharaja Man Singh of Jaipur

(5) Question not attempted

Which folk musical instrument is associated with

the story of Pabuji? -
(1) Ravan Hatha (2) Pungi
(3) Bhapang (4) Shehnai

(5) Question not attempted

In 1897 which of the following representatives
of village Bairisal of Bijolia met the ‘Maharana
of Udaipur?

(1) Heera Lal Patel and Tej Singh

(2) Pandit Brahma Dev and Fateh Karan

(3) Nanji Patel and Thakri Patel

(4) Sadhu Sitaram Das and.Vijay Singh

(5) Question not attempted

‘Bhim Bhadak’ -Rock painting site is located
at -

(1) Jaipur (2) Bundi

(3) Jodhpur (4) Alwar

(5) Question not attempted

Which Rajput state declared female infanticide

illegal in 1844 AD?
(1) Bikaner (2) Jodhpur
(3) Alwar ° (4 Jaipur

(5) Question not attempted

Which one of these Pratihar ruler changed his
capital from Mandore to Merta?

(1) Kakkuk (2) Sheeluk

(3) Nagbhatt I (4) Rajjil

(5) Question not attempted

N
* Presence of Mauryas in Rajasthan is evident

from -

(1) Nandsa Yoop Inscription

(2) Kansawa Shiv Temple Inscription
(3) Nasik Inscription

(4) Junagarh Inscription

(5) Question not attempted

10.

11.

12.

13.

14.

WWW%W%WW%
AHH = 25-26 S, 1946 BT Ao BT TH
R GeITT?

(1) SR & BRIV qura Rig -

(2) BieT B 7ERIG W R |

(3) RR & HerEa aiewv Rig

(4) SR & FERT 9 Rig

(5) r=IRa we
q@ﬁa%mm%mﬁﬁwahwgagan

(2) gt
4 wz=g

(ﬂwe@n
(3) wur

() srgafa s
1897 # feiferar & Nwrer wig 3 =
ARNERT 9SSR @ wERmT @ 9 @Y7

(1) €R1 I 9 &R O Rig

(2) 4f$q sERa SR Bag o

@) ol e SR oY wed

@) sy HgRM T 3R o R

(58) srg=iRa o=

res AT qRRerS Rera & —

(1) SgR CEG

(3) SirergR (4) areTR

(5) arg=iRa u=

ﬁv—\qwmﬁlsMs‘ #Wg}rrauaﬁ
IR SrET ST fHar?
(1) SiereR

(3) IerR

(5) IIgIRT weo

=1 4 9 e ofER e aul <o
ISR | HEAT gqal1? )

(1) Bags (2) T

(3) FrTHE oA DN

(5) srgaiRa g

<o # AR B SuReify W § -
(1) Hewr gu Race 9

(2) Borar & Rae & Reea @
@) s e §

(4) TS 31fere

(5) Irg<IRa T
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15. ‘Rang V\il{é\s’ painting gallery was bnilt during

the reign of which ruler in Bundi Fort?
(1) Rao Arjun Hada

{2) Maharao Budh Singh

(3) Rao Bairisal

(4) Maharao Ummed Singh

(5) Question not attempted

16. Which of the' following (Producing Area —

Mineral) is not correctly matched?

(1) Kho—Dariba — Zinc and Lead

(2) Champaguda — Beryllium

(3) Lilwani — Mangénese )

(4) Morija Banol — Iron

(5) Question not attempted k

_17- In which area of Rajasthan Sub-Tropical

Evergreen forest are found?
(1) Around Kumbhalgarh
(2) Around Silisedh

(3) Around Mt. Abu

(4) Around Nag Pahad

(5) Question not attempted

18. What is the correct descending order of
catchment area of the following rivers? nmsg
(i) Banas
(ii) Mahi
(iii) Luni
(iv) Banganga
Select the correct answer using the code given
below —
(1) i, i, i, iv (@) 4, 1, iii, iv
~(3) iv, ii, iii, i @) i, i, iv, iii
(5) Question not attempted

19. In which districts of Rajasthan Red loam soil

is found? *

(1) Udaipur, Dungarpur (2) Jaisalmer, Jalore
: (4) Kota, Baran

* (8) Question not attempted

(3) Nagaur, Ajmer

15.

16.

17.

18.

19.

e e @& P H garl?

(1) 7@ I BT

(2) TR g5 iz

() 7@ R

(4) wERE Swg Rig

(5) IrgmiRa u=
ﬁwl%ri@ﬁﬁﬁaﬁﬂw(maﬁa @rﬁfﬁ)
gafera 81 &7

(1) Ei-8ar — EreT 3R o

(2) TG — SRfer™

(3) erarty — ¥
(@) 8T T — e
(8) Sr<iRd U= -,

ST @ R & ¥ S0 BRawi SeeER
I 9RO 87

(1) e & AR| AR

(2 Riferie & aRI 3R

(3) ST Y B TARI AR

(4) 97T UBTE B ORI 8k

6) eaRa =~ «

HH w7 87
G N
() S
(iii) o
(1v) O
I%Q Q¢ BE BT ST HD T SN

(2) i, ii, iii, iv
(4) ii, 1, iv, iii

(1) i, iid, ii, iv
3) iv, ii, iii, i
(8) argaRRa we h
o & fbd el § ata @nl A 9
ST 87

(1) SR, FRE (2) PR, AR
() 7R, SRR @) e, SR
(5) SrgeIRa g
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;o

. 1 ]
20. Assertion (A) — The groundwater table in  20- R (A)— NIoRAM H Yol ®R =R R
Rajasthan is continuously falling. ) & B
“Reason (R) — Lack of rainfall and excessive BRI (R) — T8 B HH Tl TR YT
groundwater exploitation are responsible for Qe gO forg SaRgrR &1
ﬂ1HS; . 1) ‘A’ I § AfT R w1
() AAISfalsebutRlstl'ue. ‘ o (2) zA’S:ﬁ?- ‘R,ﬁﬂﬁ%ﬁﬁ‘ R’. ‘A’ &l
(2) Both ‘A’ and ‘R’ are true but ‘R’ is not.the & R T8 .
correct explanation of ‘A’. ) (3) ‘A’ =g N .
(4) Both ‘A’ and ‘R’ are frue and ‘R’ is the W@W > ’
correct explanation of ‘A’. 5 I
(5) Question not attempted (8) SrgeRea st
21. Which of the- following hill is not located in 21 =1 § § Il BRI SR U= &5 3 Rerg
Jalore hilly area? ‘ <81 87
(1) Jharola Pahad (2) Israna Bhakar (1) IR UBTS (2) SR ‘*Tl'cﬁ'
(3) Roja Bhakar (4) Sayra’ (3) IS WIHR . (4) AT
(5) Question not attempted (5) e,r:ﬁﬁa En
22. Which of the following districts of Rajasthan are 22 F=ifeiRag & & <ot & v Rl 3 5=
likely to suffer minimum damage from high qrg e ¥ REH AN D TGS 87
wind velocity? , (1) m JiFaTST
1 NN
(1 Du-ngarpur, B'answara (2) sfrerare], RreveTe ;
(2) Bhilwara, Chittorgarh @) . ,
(3) Udaipur, Rajsamand N '
(4) Ajmer, Pali - , (4) ST, el
(5) Question not attempted (8) SrgaRa o
23. Match List-I (Solar Park) with List-I 23 — I @R Ue) @ gd - O
(Undertaking Company) and select the correct (EFFq?ﬁ /SUHH) & AT GHleTd PIFTT eI g
answer using the code given below - . feg W@ DT Pl TANT HY 8] BTN ﬂﬁ(’ -
List-I
(Solar Park) gﬁ;'\’ T-I'Fﬁ)
(A) Phalodi — Pokhran (A) Herd)
(B) Fatehgarh Phase — IB (B) _qﬁm tﬁv_r — &
(C) Nokh — Jaisalmer T (C) W — SRR
(D) Pungal — Bikaner (D) Y — §IHFR
List-I TE-II
(Undertaking Company) / SUsh)
(i) Accel Solar Energy' Company ) Q‘\g?{ BRI SOl Sy
(ii) Adani Renewable Energy Company (ii) 3reTT Rguee greil HF
(iii) RSDCL.. == (i) RO < 3T
(iv) RSDCL (iv) IR.TE.E41.gel.
Code - T —
(1 A~ (@, B - (iv), C - (iii), D - (i) () A (), B - (iv), € — (iii), D — (i)
(@ A-(@v),B-(i),C-(),D —\/ (1ii) (2 A-(v),B- (ii), C - (1), D — (iii)
(B» A — (i), B — (ii), C — (iii), D.— (iv) (3) A = (i), B — (ii), C — (i), D — (iv)
_ (4 A—({ii), B - (i), C - (iv), D — (ii) (4) A - (iii), B - (i), C - (iv), D — (i)
~ (5) Question not attempted . (5) ergalRa we
78 - Page 5 of 32
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24.

26.

The position of textile in total exports of
Rajasthan in the year 2021-22 was -
(1) Second (2) Seventh
(3) First (4) Fourth
(5) Question not attempted

Rajasthan lives in urban areas, as per Census
20117

(1) 0.5 (2) 5.5

@) 1.5 435

(5) Question not attempted

Consider- the following statements regarding
Thar desert -

* (A) Theentire desertis a sandy area and has sand

27.

28.

dunes.
(B) It is spread over an area of approximately
1,75,000 sq. kms.
(C) It is situated west of the 25 cm isohyte line.
(D) ‘Barkhan’ type of sand dunes are found in
Bhaleri (Churu) and Mendha river valley
(Sikar).
Choose the correct option —

Code -
(1) B,Cand D (2) Band C
B) A,BandC 4 A,CandD

(5) Question not attempted
Which of the following river is not related to

Shekhawati region?
(1) Kantli (2) Kawant
(3) Mendha (4) Dai

(8) Question not attempted

Which statement is not correct.in the context of

Semi-arid Eastern Plain (III-A), agro-climatic

zone of Rajasthan? .

(1) Both irrigated and non-irrigated agriculture is
done here.

(2 It covers Jaipur, Ajmer, Dausa and Tonk
districts.

(3) Maize, Groundnut and Jowar are the main
Rabi crops.

(4) There is 50 cm to 70,cm average rainfall.

(5) Question not attempted

24.

- What percentage of Schedule Tribe population SoE25.

26.

27.

28.

¥ 202122 % SR & g A § g
Cracsa) o Refa off —

() fg<im (2) <\t

(3) verH (@) =gt

(5) 3Fg<IRE U=

. SO 2011 & SIg9R, STORM 4 SRR

SISIIG SIFTaT &7 fhar giea TR 85
Y g Hear 87

(1) 0.5 (2) 5.5
315 435
(5) srg<IRe we

IR Ho® & 9y 4 ME PeMl R R

BITY —

(A) mewwﬁqaﬁa%l

(B) %ngrnsoooaﬁ%#r &3 ¥ fawga
|

(©) %gzs-\#ﬁ.waﬁ%@zﬁq@mﬁﬁ%

I L
(D) WIeR (F%), Her ar 71l (WiaR) § =REH
YHR B g WU I O B |

gy fadey &1 9u7 P —

EHE— '
(1)BC3ﬁ?D (@ B 3k C

(3 A,B 3R C (@ A,C3RD
(5) srgiRa ww

= 39 PN T I uee | et
&l 87

(1) Bl (2) Praa
(3) Har (@) s
(5) rg<IRT y=

IR & JGYD g4 He[  (I-A), B

STy UG B WEH W Pl B A8l T8

87

(1) g8t Riffa IR aRiRm 91 TaR &1 BN
P W B

(2) sH&T TR TR, aﬁiﬁ? 3T g Tiop foTatl
42

(3) Fahl, HThel Tl WK Wl B U B
gl

(4) I8t 50 9. | 70 Q.. 39T a9 =Kl © |

(5) Srg=IlRe g
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29.

30.

Which district of Rajasthan has lowest child sex

ratio, as per Census. 20117

(1) Jhunjhunu (2) Dausa

(3) Alwar (4) Bharatpur

) Questlon not attempted

Accordlng to Koppen, the climate type found in
Jhalawar district is -

(M Ct (2) Cw

(3) Af @) Aw

(5) Question not attempted

29.

30.

SIIOMT 2011 & SER, O™ & &9 el
H g 1 foimue &7

M) T @) <Y
(3) areaR (4) "RAR
(8) s e

DU D IER, STEEE N § Sielary uaR
TR ST § —

¥

(1 Cf (2) Cw
(3) Af (4) Aw
(5) srpaRka we

31. Recently, from which place in Rajasthan has the 31 &7 &1 & YoReM @ 59 w9 @ 9Rd™
Archaeological Survey of India found remains of R I Bl HION Biel, YT Bied, AN
Kushan period, Shunga 'period: Maurya period, B, FTEISUSE Plel AR ABRA HIel & Gy
Mahajanpada period and Mahabharata period? T ¢ 57
(1) Ahar (Udaipur)  (2) Ojiyana (Bhilwara) (1) aEs (STAPR) (2) sifsrarT (fierars)
(3) Bahaj (Deeg) (4) Nagar (Tonk) (3) 58w (S) @) TR (Sip)

(5) Question not attempted (5) sraRa u=

32. ‘Mission Sun-Rakshan 2024’ which has beenin ~ 32- g7 & ¥ iﬁlf # B, e a9 -eTr 2024° & —
news recently is - ) o Gl 3R wrEiRE. e SIBIRE]
(1) A Campaign to preserve traditional local W B IREURS @I ole Fer $

water bodies to ensure water security and TR B BT IS
community development (2) e vd wRR @ o Ak qEE & g
o S . _ _
(2 A Campaign aimed at protecting cattle and & Siwg § ARG v afEE ,
birds from heatwave and sunstroke s
L : - (3) GRgRer N | SIRINIG WRa G W9 BT U
(3) A joint military exercise between India and ) N
Japan held in Pokhran range AN _ il
(4) An All-India group dedicated to (4) waieRer wReT @ fow i v e
environmental protection AR Xite
(5) Question not attempted (5) IrgiRa o
33. With reference to the ‘Red Flag 24°, considerthe ~ 33. I8 FolvT 24° & wHed ¥ F=fifaq somi w®
following statements — . faar #ifslg —
. (1) This multinational - air exercise was () I8 TS a8 3T 27 |8 9 07 S,
conducted in US from May 27 - June 07, . 2024 9% IWRBT F TG fobar /=y o |
2024. (uﬂm?ﬁ?:ra@?ﬁ?nefs‘ﬂamma%ﬁﬂm
(ii) The Indian Air Force deployed Rafale fight% )m Y @y 919 fear ey

jets for this exercise. ) I HT F -
Which of the statement/s glven above is/are 3 /%fq T Sl B/
correct? - . :

\ 1 N o . .
(1) Only (i) (® Both () and i) - zsi i N 2 4; Q@_ S (i)
(3) Neither (i) nor (i) (4) Only (ii) o o T E D (@ G
(5) Question not attempted (5) TgaRT et
78- & Page 7 of 32




34. Consider the following statéments about ‘Stop

36.

37.

Diarrhoea Campaign — 2024°—

(A) This Campalgn will be conducted from
1%t July to 30" September, 2024.

(B) In the state, ORS and Zinc medigii
distributed free of cost through ]i%m
Medical Services Corporation. e

Choose the correct option -

(1) Both (A) and (B) are correct.

(2) Both (A) and (B) are incorrect.

(3) (A) is correct. but (B) is incorrect.

(4) (A) is incorrect but (B) is correct.

(5) Question not attempted

are
1an

£

- Who is the current Leader of. Opposition in

Rajasthan Vidhan Sabha?
(1) Ashok Gehlot
(2) Tikaram Juli

(3) Shanti Dhariwal

(4) Govind Singh Dotasra
(5) Question not attempted

%

How many medals were won b); the-participants
from Rajasthan in various categories in the
National Level Skill Competition “India Skill
2023-24" held iri Delhi in May 20247

(1) 25 (222

(3) 19 @ 15

(5) -Question not attempted

"With reference to the ‘ISSF World Cup, 2024°,

consider the following statements —

(i) Sarabjot Singh scored 242.7 points in final to
win the Gold Medal in the Men’s 10 meter
Air Pistol Shooting Event. 8

(ii) Sift Kaur Samra won the Bronze Medal for
India in the Women’s 25 meter Rifle
Shooting Event.

Which of the statement/s given above is/are

correct?

(1) Only (i) (2) Neither (i) nor (ii)

(3) Only (ii) (4) Both (i) and (ii)

(5) Question not attempted*

34.

35.

36.

37.

3) 19

g SARar SRE — 2024 & way #
T R AR Pie —
(A) TE BRI 1 Fois ¥ 30 Ry, 2024 @b

wanfera fgm g |

(B) 5T ¥, ORI et AR PRI
d egd ¥ INARTY. T RNie a1 &l
frges faamer far s 21

el fawea g —

(1) (A)Tg (B) TSI 9T & |

(2) (A)Td (B) SFT /e £ 1

(3) (A) W & fobg (B) 3ieicd B

@ (A)W%W(B)w%‘l

(5) SFIRT Uz .
IISTRI Y e 9 ada Sar ufduer s

g

(1) el T

(2) SR Sell

(3) wiifq gréarer

@) mfdg Rig SemT

(5) SrgRIRa g

g 2024 ¥ R ¥ v v {4

Fioe gfqafer “sfear Rear 2023-24" #

fafter AR & <oree & wfefal 9 fae

Ugd Si?

(1) 25 @2

@15

(5) Srg<IlRd ge

ETETETE. %9 HU, 2024' B d@

frfaRag doml ) faR & —

() WREvia Rig 3 BEed 3§ 242.7 3fd g
PR goul #f 10 Hiex TR fiea T Tt

- ¥ Wvf yg& S|

Gi) Rive PN GFRET Y Afkerel @ 25 dex

gD Sl |

- SRR Y Y BN /BeFl § ﬁ‘aﬁ?r—ﬂf/'\fr i)

B/ h

(1) Baa () @) 7 a7.6) 7 & ()
(3) Baet (ii) (4 <1 (4) SR (i)
(5) STaRA W

78 - &
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38. Consider the following statements with 38

reference to Rajasthan Budget (Vote on

Accounts) 2024-25 -

(A) The annual expenditure for Shri Ar’mapuma
Rasoi Yojna per annum  will be about

¥ 350 crores.

(B) Under the P'radhanmantrivSuryodaya Yojna
it is“aimed to establish Solar plants at more
than 15 lakh houses of Rajasthan.

(1) Both the statements A and B are not correct

(2) Only statement B is correct

(3)‘Both the statements A and B are correct

(4) Only statement A is correct.

(5) Question not attempted

39. In the Lok Sabha General Election 2024, as part 39

of SVEER, activities in Rajasthan, how many
people from which district together took oath to
vote and registered a record in the World Book
of Records, London? '

(1) 9.16 lakh in Sikar

(2) 7.16 lakh in Jhunjhunu

(3) 7.16 lakh in Sikar

(4) 9.16 lakh in Jhunjhunu .
(5) Question not attempted

40. Rank of India in World Economic Forum’s 40

Travel & Tourism Development Index, 2024 is -
. (1) 39 (2) 50t
(3) 41% (4) 350
(5) Question not attempted

v

41. The shape of I3 is - . 41.

(1) Triangular planar  (2) Seesaw
(3) Bent _ (4) Linear
(5) Question not attempted

(1) Post precipitation

42. Which one is not a type of co-precipitation? %4&

(2) Surface adsorption
(3) Mixed crystal formation
(4) Occlusion

(5) Question not attempted

ST g9ie (JEFE) 2024-25 & gaf #

F=foRag doml R AR &% - -

(A) 5 oUW ISt & fory e
350 @IS X e = grm |

(B) wer=HA, AT AT & Sl o
B,15 I ¥ 9% W W deR wiew
I 5y ™ &7 &g

(1) %o A o B 2T & areicy §

(2) Badl $oF B G &

(3) T A T B LA O €

(4) Baet BT A TH §

(5)aaﬂﬁﬁauw

ARG AM AT 2024 F o™ § @y

Raisa, ded 3 RpisS T sarmr
(1) o= § 9.16 e

2 ggr | 7.16 7w

(3) W= 7 7.16 7=

@) 371 9 9.16 o=

(5) ergalRa ge=

fowg-aniie = & Imr 9 wed Rem sl
2024 H ARG BT RIF o —

(1) 39qi 2y 504t

(3) 41af (@) 35qi

(5) ergaiRa e

I3 ST B Sl & —

(1) P weelm () Sgeh

@) 931 g (4) X

(5) g U=

frefiea & & TB—eraRuvT & UBR & § —
(1) gzg — a@emo

© (2) TRl SRy

3) e forvea fomtor
(4) srferenRor
(5) g g
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43.

'*—.—ﬁ«'—"

43. Assertion — Chemical properties of IfRFe — Wfiesw (3H), g'a“%ﬁqq (2])) I
Protium ({H) , Deuterium (D) and Tritium ;f]gi%?m (GT) & AR 0T FAT s’lﬁ gl
3T) are same. — {4, 2D orr 3T WIRG 81 B |
Reason — 1H, 2D and 3T are isobars. I8 ﬁl?ﬁc‘fq BT FIT BT —
Choose the appropriate option - () sfwed g8 & TR=] PROT T 2
(1) Assertion is correct but Reason is incorrect. ) ST qe HRY SR aE ¥ Fror
(2) Assertion and Reason both are correct but J
, ; : AP & T TS T8l HI] T |
Reason does not explain the Assertion. @) f'i o1 T &
(3) Assertion and Reason both are correct, also AT PRI AT PRI,
: ; &E e B TE R FYT § |
Reason explains the Assertion. P
(4) Assertion is incorrect but Reason is correct. (4) RGN Ter & UXY PRT el B |
(5) Question not attempted - (8 srgaRa ue
44. The most significant absorption band obtained  44- —C=0 W9 P BRI U TS TS G20l
due to — C=0 stretching is at - Jus & —
(1) 3070 — 3040 cm™ (1) 3070 — 3040 cm™*
(2) 2000 — 2820 cm™ (2) 2900 — 2820 cm™!
(3) 1540 - 1400 cm™! ! (3) 1540 — 1400 cm™!
)
(4) 1740 - 1650 cm™! 4 1740 - 1650 cm™!
(5) Question not attempted (8) SrgaRe ue
45. pair of hard bases among the following is - 45. fap=ifera & PR &aRD! BT I & —
(1) R-NH,, CN~ (2) N,H, RsP (1) R-NH,, CN~ (2) N,H, R3P
(3) coi~,No3 (4) NH3, CO (3 co%~,NO3 (4) NHs, CO
(5) Question not attempted (5) arf<ilRa g
46. The Law on which solvent extraction is based -  46- g8 7w R W s F=pdor amenlRa & —

47.

(1) Henry’s Law

(2) Nernst’s Distribution Law
(3) Boyle’s Law

(4) Raoult’s Law

(5) Question not attempted

In modern periodic table, Representative
Elements or Main Group Elements belongs to
which groups? ‘

(1) Group 3 to 12 only

(2) Group 1 to 2 only

(3) Group 1 to 2 with Group 13 to 18 [

(4) Group 13 to 18 only

(5) Question not attempted

(1) R &1
(2) =< &1 faaxor
(3) Sfgar &1 FE
(4) IS8T, &1 FFraw

(5) SrIRa g

. IS aad AUl # I W B A<l Bl

TRefie 3feEr yiiikg o JF SIar 87
(1) Bae T 39 12 '
(2) BaeT TE 19 2 ‘
(3) W¥E 1T 29 WRY W 13 9 18
(4) B9 9 13 9 18

(8) srgmiRa Uz

& ¢ whefiet Na*, 0%, F, Mg @ Brsamii &1
TS gear gl 59 & —

(1Y Na*, Mg?*, 0*,F  (2) F, 0%, Na*, Mg?*
(3) Mg, 0%, F, Na* (4) Mg?*, Na*, ", 0%

(5) arf<iRa U ’ ‘

Page 10-of 32 '
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48. The correct increasing order of radii of giyen,, 48
“species Na*, O, F, Mg?* is - %
(1) Na*, Mg?, 0>, F (2) F, O*,Na*, Mg
(3) Mg?, 0%, F,Na* (4) Mg*, Na*, F, O*
(5) Question not attempted -

78-8
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49,

fefefag 9 9 BT $eF I 87

49.. Which of the following statement is incorrect?
(1) Chlorine has less negative electron gain (1) TR BT 3Men FeNe BT Soideld olfed
enthalpy than Fluorine. T HH FOHS 2 | -
(2) Helium has the highest first ionization @) oad GRON. & SREH @ ueM engee
enthalpy in the periodic table. el SaaT T '
3 ) . . . . _
3 Ihlzaﬁly period atomic radius of alkali metal is @) Pl & 3 s oTg Y AT Frea
ghest. 3fferaE Bl §
(4) Mercury and Bromine are liquids at room s l ‘ <«
temperature.  * (9) TR & AT TR TP Al S 59 B, g
(5) Question not attempted (5) Irg=ilRe g
80. In Redox ftitration KMnOs is used 50. R&fe o@me § KMnOs; &1 SUaW
S eereeceenrnesenesesenssaene % w9 § B 2
(1) reducing agent (1) srare yeref
(2) oxidizing agent and self indicator -(2) i Re YsRl Jo wWREsh
(3).reducing agent and self indicator (3) 3T Ul eI ERIAD
(4) only oxidizing agent (4) daa frFRF gl
(5) Question not attempted (5) sFTaRa ueA
51. Which of the following can be used as adsorbent ~ 51- afygiior qof dRaedt ¥ freis® & wq # e
- in adsorption chromatography? BT SYINT fpar ST & —
(1) Sodium Sulphate  (2) Ninhydrin 1) OifeTs gope (2) FeEEfes
(3) Alumina (4) Agar (3) TogfT @ apR
(5) Question not attempted (8) argaRa W
52. Which of the following is not correct for atomic ~ 52- FrefoilRag § 9 WTU@'J BPrear & forw g2
radii? T/ E -
(1) Mg > Be (2) I>Br (1) Mg > Be (2) I1>Br
(3) Rb > Cs (4) K> Na - (3) Rb>Cs (@) K>Na
() Question not attempted . (5) S[AIRT T
58. The total number of nodal planes in dxy orbital 53 dxy He/® Hol ArSd Tl PGS § —
is - (14 @) 2
b
(5) Question not attempted ' () 317 EAS)
54. The correct increasing order of acidic sirength 54 srellg wFRd o7 W& SgaT g P9 & —
will be - (1) CHs < NH3 < H,0 < H-F
1 —.
52; g};“ < NNEf" < 528_ < g }i ) (2) H-F < NH3 < H;0 < CHy
H-F <NH3< H20 < .
‘ 3)H \ -
(3) H,0 < CH; < NH; < H-F (4) 20 < CHy <NH; <HF
(@) NHy < Hy0 < CHy < H.F ) NHy < H;0 < CHy< H-F
- (5) Question not attempted (5) SrFRa T
55. pH of M/20 HySO4 is - 55. M/20 H2SO4 BT pH BRI —
mi (2) 6.99 M1 (2) 6.99
(3) 2 4 6.96 32 4 6.96
(5) Question not attempted ' (5) Srg<iRe U=
78 - & Page 11 of 32 .
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56. The correctorder of increasing acidic strength of

following acids is -

(1) CCi3COOH > CF;COOH > NOz—CHZCOOH
> NC-CH>COOH

(2) CFsCOOH > CCIsCOOH > NOz-CHzCOOH
> NC-CH.COOH

(3) NC-CH,COOH > NO;-CH.COOH >

" CF:COOH > CClsCOOH

(4) NO,-CH,COOH > CCIsCOQH > CF;:COOH
> NC-CH2COOH

(5) Question not attempted ‘

57. On the basis of hard-soft acid base concept the
correct.increasing order of softness of halide ion
bases will be - ’

M F<I"<Br <~
(2)F~<Cl~ <Br <I-

@) €I <F <Br <I" .
@ I"<Br <CI"<F~

(5) Question not attempted

58. Match Column — I to Column — I with reference

to Ultraviolet and- Visible Spectroscopy -
Column -1

(i) Bathochromic shift

(ii) Hypsochromic shift

(iii) Hyperchromic effect

(iv) Hypochromic effect
Column — 11

(a) Intensity of absorption maximum decreases

(b) Intensity of absorption maximum increases

(c) Absorption maximum is shifted towards
shorter wavelength

(d) Absorption maximum is shifted towards
lIonger wavelength

Correct code is -

(M i-d,ii—c,iii—b,iv—a

(@i-aii—b,iii—c,iv—-d

(@) i-d,ii—b,iii-c,iv-a

@i-c,ii—d,ili—a,iv-b

(5) Question not attempted

59. The migration of colloidal particles in an electric

fieldiscalled-
(1) Tyndall effect

(3) Electro — osmosis

(2) Electrophoresis
(4) Electro — d1a1y31s
(5) Question not attempted

6. fyferRad o7l &1 gocit g9 3fily Ugelal Bl

e B & — ‘ |
(1) CCIsCOOH > CF3COOH > NO,-CH2COOH
> NC-CH,COOH
(2) CF;COOH > CCIsCOOH > NO,-CH,COOH
~ >NC-CH,COOH
(3) NC-CH,COOH > NOz-CHzCOOH >
CF;COOH > CCl;COOH
(4) NO,-CH,COOH.> CClsCOOH > CF:COOH
> NC-CH,COOH

() Irp<iRa yeA

57. pR—9g T &RS WHedd & MR W
AT ST ERBT P Ygal B TE RIS B
y_

(1) F<I"<Br <Cl”
(@ F<C <Br <I”
@) C- <F<Br <I~
@ 1I"<Br<CI"<F~
(5) ST U

58.W|ﬁﬂ#rawgwm?&a@w¢r$wﬁﬁ
Bied — I BT Bl — M Fafera SifoRl —

(a)aasﬁwvi%ma%%ﬁamﬁrfmﬂ
(b) raeivT Sfass o der 4 gfy
(c)mwv%a%magavﬁzﬁaﬁw

(d)aaaﬁﬂwvi%aﬁaﬂaﬁﬁawéahﬁm
faenus s
wEl HE B —

(Mi-d,ii—c,ii—-b,iv—a
() i-a,ii—b,ili—c,iv—-d
(B)i—d,ii—b,ili—c,iv—a
4 i—c,ii—d,iii—a,iv-b -
(5) argaa ue -

59. fagr &= H Dleligs! PON P THT DMl
3

(1) Revser wura (2) Jgaeur Heer
(3) fargg Ry (@) fazga — emred
(5) 3rgciRa U

78 -8
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60.

61.

62.

63.

64.

65.

Which of the following compounds does not 60 frifaiaa Aifet F ¥ PFer Afe <roma

* give Silver Mirror Test with Tollen’s Reagent? 3% & QI Yord gUoT qleroy w18} Jar 87
(1) Propanone (2) Methanal (1) It (2) e
(3) Glucose (4) Ethanal : () @I 4) et
(5) Question not attempted (8) SrRIRT g
Binary compound formed by the elements C and ~ 61- C &R Br & WI1T & v arerr e i,

_Bris likely to be - AT BT —
(1) Covalent (1) et
(2) Neither Ionic nor Covalent _ (2) 7 4 smafae iR =1 & gEdaeh (¢ ¥
(3) Ionic . ) sal~®
(4) Both Ionic and Covalént @) s vd vy 91
(5) Question not attempted ” (5) ergIRa W
In NOjy ion, the number of bond pairs and lone ~ 62- NO3 S ¥ SIS WA W SURLIT g+
pairs of electrons on Nitrogen atom are, . YW T UHIPH Foldei I B G HAE
respectively — : F—
M 1,3 (22,2 11,8 @ 2,2
(3,1 @4,0 (3)3,1 44,0
(5) Question not attem;:ted‘ (6) 3rgaiRe e
Select nucleophile from the following - ? 63. fafoRad ¥ @ IRGEET &1 9a9 AR —

+ +

(1) R,NH 1 2 no, ! (1) R,NH @ No,
(3) CHy~C=0 @B (3) CH;C=0 @) BFs
() Question not attempted ' (5) sr<IRE uee
Correct IUPAC name of ‘the following 64 fAm=feiRad ’E-’IE’@H:‘I@H BT Hal TUPAC ATHHRo1
hydrocarbon is - g —
CH;-CH(C;Hs)-CH=CH-CH; CH3-CH(C,Hs)-CH=CH-CHs |
(1) 4-methyl hex-2-ene (2) 3-methyl hex-3-ene = (1) 431 2289 (2). 3-3Ra BFF-3-5+
(3) 4-ethyl pent-2-ene  (4) 2-ethyl pent-3-ene @) 4ureT Y239 (4) 2-ufre o389
(5) Question not attempted t (5) ST e
The qua;ntum numbers of four electrons are 65 TR goacHl @ WE’HWTQ A E -
given below - f 1
(A)n=3,1=0,m =0, me=+1 | (A)nz‘qf’l:O;m‘:O’mS:?
B)n=4,1=1,mi=0, me=+2 (Byn=4,1= 1’m1='0"'m5'=+51
©n=4,1=2,m=-2,m=-> ©n=4,1=2,m=-2,m=—-
O)n=3,1=2,m=1, me=—= @)n=3,1=2,m=1,me=~1

2
Correct order of their increasing energies.would

b Lsﬁaﬁwﬁmﬂﬁmzﬁqzﬁm—
e-.

() A<D<B<C ()D<A<C<B  flns WA<D<B<C  (@D<A<C<B
(3 A<B<D<C (4 A<B<C<D B)A<B<D<TC M A<B<C<D

(5) Question not attempted (5) SrgiRa U

-
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66. The element with atomic number z = 120 have
not been discovered yet. In which family/group
: would you place this element in periodic table?
(1) Oxygen family/Group 16
(2) Alkaline earth mietal/Group 2
(3) Alkali metal/Group 1
(4) Noble gases/Group 18
(5) Question not attempted
67. If the solubility of CaF> in water is ‘s’ moles per
litre, its solubility product will be -
() s (2) 252
(3) 105s° (4) 4¢°
(5) Question not attempted
68. Match the items of Column — I with items of
Column — I — : )
Column — I
(i) Methanol
(ii) Conversion of 2° alcohol into ketone
(iii) Denaturation of alcohol
(iv) Ethanol
Column — IT
(a) Fermentation of sugars
(b) Wood spirit
(c) CrOs
(@) Copper sulphate and pyridine
(1) @) - c, (ii) - b, (iii) - a, (iv)-d
(2) (i) - b, @) -c, (i) - d, (iv) - a
(3) (@) - b, (i) - 4, (iii) - ¢, (iv) -a
(@ (i) - a, (i) - b, (iii) - c, (iv) - d
(5) Question not attempted
69. 40% solution of A is known as Formalin. What
is A?
(1) Formic acid (2) Methanol
(3) Acetaldeliyde (4) Formaldehyde
(5) Question not attempted

70. Which of the following option represent the
correct bond order?

“(1) 0, >0; >05 >0%
) 0 >0; > 0, > 05~
3 0%~>0,>0; > 0F
® 03 <0;< 0,< 0F

'e6. TRAY] BB (z = 120) I TG DI OGSl 39
TP 7Sl B UlS & | 31U S < Bl fEd qRon
% fore aRaR /o # ?
(1) sifedior gRaR /4 16
(2) &y TeT g/ 2
@aRug/aT 1 .
@) s /9 18
(8) SreiRer Ut

67. 3R CaF, B iat # fdorer s’ Al gy efley
2, Sa®! forgar eEHe s —

(1) s (2) 22
(3) 105¢° (4) 453
(5) SR G

68. Bfe — I & 123 & usf & ofew — I 9
gﬁ%ﬁa%ﬁlﬁ—

@ ﬁe)ma
(ii) 2° Uehlelad T B F TRad
(111)??%‘[?[ BI fapforaor

HIOR Tohe el RIS
(1) @) - ¢, (ii) - b, (iii) - a, (@v) - d
) (i) - b, (ii) - ¢, (iii) - d, (iv) - a
(3) (@) - b, (ii) - d, (i) - ¢, (iv) - a
@ () - a, (i) - b, (iii) - ¢, Giv) -d

(5) SrRIRT U
69-§m40%ﬁmﬁfﬁ%mm%‘lAm

?

(1) Bifife 3 (2) W

3) Tiiefeeerss (3) Biifcsess

(5) SraIRT U °

70. fyeforiRae & @ BT fadbea |l M HH Bl
e FHRar 82
1 0, > 035 > 03 > 03"
() 03 >0; > 0, > 05
®) 03 >0,>0; > 0}
@ 0% <0;< 0,< 0F

(5) Question not attempted (5) IR U
71. The total value of magnetic quantum numbers of ~ 71- n=4 9/ BF W fHA SN B G FEDH
an electron when the value of n =4 is - F0CY T3l BT M BRI —
M3 (2 16 M3 2 16
3 32 @9 ) 32 49
(5) Question not attempted (5) IR U=
78 - & Page 14 of 32
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72 The branch of Science which deals with the dual
behaviour of matter is called -
(1) Matter Mechanics
(2) Particle Dynamics
(3) Wave Mechanics.
(4) Quantum Mechanics
(5) Question not attempted

73. Given below are two statements one is labelled

as Assertion (A) and the other is labelled as
Reason (R). o
Assertion (A) - Alcohols react both as
nucleophile and electrophile.
Reason (R) - Alcohols react with active metals
" such as sodium to yield corresponding alkoxide
and liberate dihydrogen.
In the light of the above statements, choose the
correct answer from the options given below -
(1) Both (A) and (R) are- true and (R) is also
correct explanation of (A).
(2) (A) is true but (R) is false.
(3) (A) is false but (R) is true.

.correct explanation of (A).
(5) Question not attempted

74. The wavelength of a ball of mass 0.1kg moving

§

with a velocity of 10ms™ is -
1 6.626x10%*m (2 6.626 x 103 m
(3) 6.62x10¥ m 4) 6.626 x 1032 m
(5) Question not attempted |

75. Which does not constitute a buffer solution?
(1) H,CO, + NaOH

® 0
(2) NH,OH +NH, Cl

@
@ CH3C00H+CH3C08Na

/ @
(4) H,CO, + NaH 'co?

(8) Question not attempted

<,
76. Calculate Amax for compound Ejj/m ethanol -

(1) 273 fap (2) 235 mp
(3) 312mp (4) 243 mp
(5) Question not attempted

(4) Both (A) and (R) are true but (R) is NOT

72. g B 98 WL ST w9 P &9 USA 9@
TR 8, $EaRl & —
(1) s Tif3®T
(2) Boi it
(3) T Ty |
(4) FarocH i)
(5) srgaRa ue

73. {33 73 < Bl # Y@ B AP (A) TN
I HUE HRI (R) & —.
AP (A) - ToPEle AREERE e
SATLIEIET QI Y Ve IER &RaT B
DR (R) - TepIEiel Witha g Sy AT B,
T ARAREIT PR AT YepIISS Seu= Bl

g I STSEISSIeH NSpIfd ovar &
SR B2l B AN # vEQ §Y et
- SugH fader g —
(1) (A) @ (R) 3F1 e § 3R (R), (A) zﬁrﬂé’t
R WY BT B |
) (A) 9 © T (R) A ¥
(3) (A) 3 B WY (R) T 21
@) (A) T R) SF1 ¥ § ™Y R), (A) B
WET URAT el Hyal & |
(5) ST e
74. (,1kg TN 3N 10ms-1¢rwl%rm?€rwﬁa

3l TRraed Bt —
(1) 6.626 x 10** m
(3) 6.62x 103 m
(5) eIk g% ‘ '

75. %ﬁ?wﬁvlma A O BT IBR Ao @ T8 g
(i) H,CO, + NaOH

(2 6.626 x103' m
@) 6.626 x 1032 m

® 0
(2) NH,OH +NH,Cl 0

.0 ®
3 CH3COOH+CH3C08Na

@) H,CO, + Nat c&®
(5) argaRa we
o
76. writer ¥ am'[;tja§ RN A 31 T RN —
(1) 273 mp (2) 235 mp,
(3) 312 mp @243mp
(5) srgaiRa w=A

78-8
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77. Which (TUPAC Nomenclature — IUPAC Official 77 e (IUPAC AHE — TUPAC SRIGIRE

Name) is,not correctly matched? ) e gAfera T8l 87
(1) Unnilpentium — Dubnium ~ (1) Unnilpentium —
(2) Unniltrium — Lawrencium : (2) Unnilirium — ARFRA
(3) Unnilunium — Nobelium (3) Unnilunium — SISfeRR
. (4) Ununpentium — Moscovium (4) Ununpentium — HRBIGITH
(5) Question not attempted (5) IIRT o
78. The number of elements in 5% period of the  78- 3Mad ARl & Ufad ofad A Fl <ral BT &
periodic table will be - BRI — :
M3 | @8 (1 32 8
F @10 , @ 18 (3) 10 . @) 18
(5) Question not attempted (5) («Hﬂ-‘d’ﬁa‘ PECH '
79. Consider the following two statements: 79. frfoRad <1 FoMl R IER BY -
 Statement — I: The conversion of Alkanoyl U — |: ToDad SASE BT Hy @ W
" halide into Aldehyde in the presence of Hz with Rerfy 3 - . : R
Pd-BaSO0s is called Rosenmund Reaction. Pd-BaSOs #1 ¥ gfeseres |
Statement — II: The conversion of Toluene in '@Iﬁ?’ﬂ“@' AT e B | .
Benzaldehyde with Chromyl chloride is called w2 — Il : Eﬁ;ﬁ:{ HT DT FANSS DI
Etard reaction. SRefy § SRcese ¥ oRadw SR
Select the correct option - , ‘ i : |
(1) Statement — I is correct, Statement — I is HfAfsaT g %l .
h incorrect. . el Aped &1 = PR — '
(2) Both Statement — I and Statement — II is (1) Fori— 98 &, PUT—Il T 2
incorrect. . , .
.. @) Statement. — I is iricorrect, Statement — II is () S ol AR Fr-Il.Terd gl
correct. (3) PerFi—| T B, BRI TE B
:l- s (4) Statement — I is correct, Statement -1 is (4) por—| R 2, BT TE B
correct. : '
(5) Question not attempted } (5) SrgaiiRa Sree
80. Most stable free radical is - 80. wqifties wIE Aol oD © —
(1) CHy—C—CH;  (2) CH, -CH-CH,. () CH;—C—CH,  (2) CH,-CH-CH,
[ ) ]
CH; CH,
(3) CcH, =CH-CH, (4) C¢HsCH, . (3) CH, =CH-CH, (4) CgHsCH,
(5) Question not attempted (5) IraiiRe U
81. The compound which exhibits -Geometrical ~81- @ A Y SuTRT GEICEER) R Heal
Isomerism is - g —
(A) CsHsCH=N-OH (A) CsHsCH=N-OH
(B) CHy-CH=CH-CH; (B) CH3-CH=CH-CH;
(C) HoOC 7 \COOH (C) HoOC 7 \-COOH
Monly®) . (@ Al(A),B)and(C) (1) Sael (B) @) (A), B), (C) &
(3) Only (C) (4) Only (A) @dga () @ 3a @A)
(5) Question not attempted (8) srpaiRa ue
78 - & ‘ Page 16 of 3i
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82: 100 'mL solution contains 4g Caustlc soda. The

83.

84.

85.

- 86.

normality of the solutlon is -
(105N (210N
(3) 40N @ 01N
(5)l Question not attempted

In Soap Industry Glycetol can be separated from
Spent Lye by - '

(1) Distillation under reduced pressure.

(2) Fractional Distillation

(3) Steam Distillation

(4) Sublimation

(5) Question not attempted

The. molecule having highest Dipole moment

‘is -

(1) NH3 (2) BF;
(3) NF; (4) CH4
(5) Questionnot attempted

(A) N, ~ N7

(B) 02 > 07 )

Choose the most appropriate optioh related to

above transformations -

(1) In (A) bond order increase wh11e in (B) bond
order decrease _

(2) In (A) bond ofder decrease while in (B) bond
order increase.

(3) In (A) bond order increase while in (B) bond

order increase.

. (4) In (A)-bond order deciease wh11e in (B) bond

order decrease.
(5) Question not attempted

The alcohol whose ingestion of even small
quantities-causes blindness -

bt

83.

84

85.

86.

82. 100 mL e ¥ 4g PiResd ARl & o

P Hiierar & —
(1 Oo5N (2 10N
(3) 40N 4 0.1N
(5) ergaRa ueA

WW#@?H@%W@Q%
o <1 W & —

(1) g9 T9 TR a4

@) oSt e ’

(3) 9 IMHIT |

@ G ¥

{5) FRIRT 9T
- fr=foRea & & waifte faga smeel arenm 81

S

(1) NH3

(3) NFs

(5) IR UE
(A) Nz - N3
B)0,-»0; '

SRIF SURRt ¥ w i SUZH
fawen &1 799 DR —

(2) BF;
(4 CHy

(1) (AYH 5% ¥ 9l § SIEid (B)ﬁ_wm

Hedl 2 o

(2) (A) ¥ 579 P4 Hedl ©§ Seie (B) § 9 B9

g1 B :
(3) (A) ¥ g7 59 dgal © SEfP (B) H T HH
AT B | ‘
@) (AYH w1 b9 Hed § wiEie (B) § o4 wH
el & |
(5) iR ueA
ﬁmmﬁa@mwﬁmﬂﬁ%ﬁ
SO B ghar & —

(1) Propan-2-ol (2) Ethanol (1) g—2—sifat (2) vote
(3) Methanol (4) Propan-1-ol @) e (@) S 1—aifer -
(5) Question not attempted (5) SraRa W

78 - &
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87.

88.

89.

80.

91.

The values of the ionization constant of some
weak bases at 298 K are given below -

Base Kby
Triethylamine 6.45 x 107
NH4OH 1.77 x 107
Pyridine 1.77 x 10
Aniline 4.27 x 10710

- The correct order of the base strength is -

(1) Pyridine > Triethylamine > Aniline > NH,OH
(2) Triethylamine < NH4OH < Pyridine < Aniline
(3) Triethylamine > NH4OH > Pyridine > Aniline
(4) Triethylamine > Pyridine > Aniline > NH,OH
(5) Question not attempted

The pair of ions formed by auto-ionization of
liquid SO is - .

(1) S0%* and % (2) S0%* and SO3~

(3) sodand S0%~ (4) SO+ and SO3~

(5) Question not attempted

The most stable conformation of n-butane is -
(1) Anti form (2) Eclipsed form

(3) Gauche form ~ (4) Fully Eclipsed form
(5) Question not attempted

Match Column-I (Electronic Configuration) to
Column-1I (Electron Gain Enthalpy KJ/mol) -

Column -1 Column - IT
(Electronic Configuration) (Electron Gain
Enthalpy KJ/mol)
@) 1s? 2s% 2p° (A)-53
(ii) 1s? 252 2p5 3s? (B)-328
(i) 1s* 2s2 2p° O - 141
(iv) 1s? 2s? 2p* D) + 48

Ni-D,ii—B,iii—C,iv-A
(@ i-A,ii—B,iii-C,iv—-D
(3 i-D,ii—A,iii—B, iv-C
@i-D,ii—B,iii—A,iv-C
(5) Question not attempted

An example of emulsion is -
(1) Fog (2) Cheese
(3) Froth (4) Milk

(5) Question not attempted

87. 208 K W B5 géel aReT D Reier Reial

bt

88.

89.

90.

91.

P 79 Fefefaa € —

&R$ K»p

(I DC I T 6.45 x 10°
NH,OH 1.77 x 10
LRSI 1.77 x 10
YEEIE 4.27 x 10710
ARG At B T 9 & —

(1) fadréi > greeRrered > gl > NH/OH
(2) creeRrergd < NH4OH < R8I < threlie
@) suPeeie > NHOH > RS9 > whid
4) srgeRrered > M > TRl > NH,OH

(5) sl U=
59 SO, @ G—ARAT § g5+ 9Tl I B
THE — |
(1) SO%* e S

(3) S0F <o SO

(2) SO?* TR S0~
4) S0%* err S02~

(5) srgaiRa U

DS B I R HwOT § -

(1) 7ot & (2) 7R wu

(3) viter g @ qof uRm w7
- (5) arFpaRa WA

Hiem — I (gelagifie A=) @) sied — I
Eome AT el Kl/mol) ¥ gifRkm

B — 1 PierT — 11

(Gelasiiae: fa=ar) (SelagT <ty
TR KJ/mol)

(i) 1s% 252 2p° (A)— 53

(if) 1s? 25 2p° 35! (B)-328

(iii) 1s? 2s? 2p° (C)-141

(iv) 1s? 2s% 2p* (D) +48

(Mi-D,ii-B,iii—C,iv—-A
(@i-A,ii-B,ii—C,iv-D
(®i-D,ii—A,iii~B,iv-C
(4)i-D,ii-B,iii—A,iv-C

(5) srgRIRa U=

SHEE BT STIENT & — .

(1) et 2 A
@) @) g

(5) srgeiiRa we

78 -
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N

92. The reagent used to convert Ethane nitrile to 92 98 IFFHF S O TEERA P Ve H
" ethanal is - SR P T —
(1) Di isobutylaluminium hydride (DIBAL — H) (i) =i szt ghiEd sEgEs (DIBAL
(2) 03/H,0 - Zinc dust B H) . .
3) G105 vl (2) 03/H,0 — TS ?TJT‘.
(3) CrO3
4 PCC (4 PCC
(5) Question not attempted (5) eraiRT U
3. Ap atom consists of 17 protons and 18 neutrons. ~ 93- T TRATY # 17 Wich iR 18 Ygf & | T I
What is the correct symbol for this element? E Wwellep BRI —
M Bal @ 49 Ar M 2l @A
_ (3) 82 Br @SR ¥ 9 P
(3) 32Br (4) None of th? above s
(5) Question not attempted (5) sFTeIRa W '
94. What is the correct orbital notation with the 94 FrifiRea wven Wed IR FEF BT AL
following quantum numbers? feroqor 87
n=3,1=2,m=+1 : n=3,1=2,m= +1
(1) 3d (2 3s (1 3d (2) 3s
(3 2p @) 3p ®3) 2p @) 3p 2
(5) Question not.attempted (5) ergaIRT U=
95. Arrange the following set of compounds in order ~ 95- fr=iferiRey @if¥rept @ TYTE Bl D FASIDI
of their increasing boiling points - P 9gu 8¢ HY 1 FGRT BIOY —
Pentan-1-ol, Butan-1-ol, Propan-1-ol, Methanol Ye-1-aifet, FRa-1-eife, UIUe-1-3ifer, ATl
(1) Methanol < Propan-1-ol < Butan-1-ol < () ¥ < WNE-1-8ffel < EH-1- i <
~ Pentan-1-ol Y- 1-3ifel
'(2) Methanol < Butan-1-ol < Pentan-1-61 < @) ¥ < 130 < -1 aite <
Propan-1-ol - HIE-1-3ifeT
(3) Methanol < Pentan-1-ol < Propan-1-ol < (@) el < T=A-1-8lfd < WOe-1- 8ffel <
Butan-1-ol / weH-1-3ifd
{(4) Methanol > Propan-1-ol > Butan-1-ol > @ ¥ > WE-lald > eRA-1-elfd >
Pentan-1-ol & Uo-1-3ldd
(5) Question not attempted (5) SrgaiRa U
96. The correct increasing order of first ionization 96 fg<iig AEd B aal D UM I TAA B
' enthalpy of second period elements is - TE ARIE HH & —
(MLi<B<Be<C<O<N<F (N Li<B<Be<C<O<N<F
(@ Li<B<Be<C<O<F<N (2 Li<B<Be<C<O<F<N
() Li<B<Be<C<N<F<O (3 Li<B<Be<C<N<F<O
4 Li<Be<B<C<N<O«<F (@ Li<Be<B<C<N<O<F
(5) Question not attempted (5) 3rgIRa W= -
78- & Page 19 of 32




97. Which of the following reagents can be used to ~ 97-
oxidise primary alcohols to aldehydes? Select
the correct answer by given code.
(a) CrOs in anhydrous medium
(b) KMnO: in acidic medinm
(c) Pyridinium chlorochromate
(d) Heat in presence of Cu at 573K

Correct code is - ,
M@, @@ . @@®),E
@) (a), (b) @ ), @
(5) Question not attempted

9. 1In the following question a statement of 98-
Assertion (A) followed by a statement of Reason
(R) is given. Choose the correct option out of the /
choices given below -
Assertion (A)r The relative stability

of carbocation is -

~ (cH, ,C > (CHy), CH > CH,CH, > e, |
Reason (R): Greater the number of alkyl groups
attached to positively charged carbon, more will
be hyperconjugation, higher will be stability.
(1) (A) is correct, (R) is incorrect.
(2) (A) and (R) both are correct and (R) is'not the
correct explanation of (A).
(3) (A) and (R) both are incorrect,
4) (A) and (R) both are correct and (R) is the
correct explanation of (A).
(5) Question not attempted
9. Intramolecular Hydrogen bond is present in  99-

which of the following?

(1) NH; (2) H,0 ﬁ

(3) o - nitrophenol (4) p - nitrophenol
5 Question not attempted

wrRifie TedlElel Hi tfesemel ¥ aifediea
mﬁzﬁﬁ?ﬁwﬁ{@ﬁ#ﬁaﬁwmﬂm
WY B 87 Y W FHe § wd SR @1 gue
BT |

(a) FrsieT 929 § CrO;

(b) 3= 9EaF § KMnO4

(c) TIfsF ™ FaRIpRe

(d) Cu & SuRefy § 573K W g+
el e -

M (), (), (@ @ (), (c)
(3) (3), (b) @) (), (@)
(5) IR T '

FrfiRaa wee ¥ afmer (A) 9o SR (R)
@ §1 A M Rowt § woifte suge
B T DI — ‘
ARG (A)i BRI BT MRS Nl Br
HHE —

(CH, )33:- >(CH;), E:I-H > gHaéHz > EHB

PR (R): EFIcHD BIE+ H fora wamaT Yfede
uRvmeEey el # A gfg i
(M (A) 9GS &, (R) Terd 21 )
(2) (A) T (R) SF1 T § 7o (R), (A) B T
(3) (A) T (R) & oI ¥ |
@) (AT (R)SHT 48T € 921 (R), (A) BT o

T et B

(5) argaRa T

FrefRed % 3 Rrwd sica STegIeR s
uRer 87

(1) NH3 (2 H,0

(3) o - TECFHTA (4) p - ASEHNTA

(5) SrgiNg W ;
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100.

- 101.

102.

(1) Valeraldehyde —

103.

104.

-(4) Acetaldehyde —

In Column — I Geometric orientation of some
compounds are given and in Column — IT some
examples are given. Match Column — I with the
appropriate match with Column —II—-

Column -1 Column - 11
(Geometric orientation) (Example)
(i) Trigonal planar (A) SFs
(ii) Tetrahedral (B) PCls
(iii) Trigonal bipyramidal  (C) CHa
(iv) Octahedral (D) BFs
Correct code is - /

()i-C,ii-D,iii- A, iv-B
@) i-A,ii-B,iii-C,iv-D
(3 i-B,ii-A,iii-D,iv-C
) i-D,ii-C,iii-B,iv-A
(5) Question not éttemptéd

The correct electronic conﬁgurati'on for Vis -
(1) 1s2, 252, 2pS5, 352, 3p°, 35, 4s° |

(2) 1s2, 252, 2p°, 352, 3p®, 3d*, 4s!

(3) 1s?, 252, 2p°, 352, 3p°, 3d*, 4s”

(4) 152, 252, 2pS, 3%, 3p°, 3d°, 4s?

(5) Question not attempted

Which (Common Name — IUPAC Name) is not,
correctly matched?

Pentanal

(2) Acrolein — Prop-1—enal

@) Mesityl oxide — 4—methy1pent—3—en—2— one
Ethanal .

(5) Question not attempted ,

A suitable indicator used for titration between
strong acid and weak base is -

(1) Phenolphthalein ~ (2) Bromothymol blue
(8) Methyl orange (4) Thymol blue

(5) Question not attempted

Identify the most stable species among the
following -
@ @
(1) CBr, (2) CHy
® @ .
(3) CHBr, (4) CH,Br

(5) Question not attempted

100.

e — 1 % go Afel @ sy [
& E & qer piem — I § §B SeRYT U
W%lw—laﬁw—nﬁgﬁ%ﬁ
BTG ~

Pied — I PicH — H

(Sonfaeira faams) (STT=vm)
[ARECEIRRECEIR (A) SFs
(ii) IHADIE (B) PCls
(iii) Preia BNEEE (C).CHz4
(iv) IrCHAD (D) BF;
TS e © —

(1) i-C,ii-D,iii- A,iv-B
(@i-A,ii-B,ii-C,iv-D

@)i-B,ii-A,iii-D,iv-C

101.

@) i-D,ii-C,iii-B,iv-A

(8) SrgaRa e \
V3 T W saagite = B —
(1) 1s?, 252, 2p5, 352, 3p5, 3d°, 4s°

(2) 152, 252, 2p°, 3s%, 3p°, 3d*, 4s!

(3) 152, 252, 2p5, 3s%,:3pS, 3d*, 4s?

(@) 152, 252, 2p°, 352, 3p®, 3d°, 457

/(5)313\_-@693?{

102.

P (G 7 — TUPAC ) e gaferd

RS -T

103.

104.

{

(1) Terfesess — Iea
(2) TPl — WO—1-GTdd

@) ARifee sffras — 4-ARrmT-3-57-2
—37 )

@) Titfessigs — W@Ha

(5) argRa U=

qel SR TRl gww%q‘waﬂqmi%

fere Sugaa e & -

(1) BitemRIfe (2) ST &

@) A it @) ergHia =

(8) SrIRT W=

fafleg. § 4 goite @l «@Eia
TEAINE —

® . @
- (1) CBr (2) CH,
@ ®
(3) CHBr, (4) CH,Br
(5) SFRIRe uZH

‘78-5_
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105.Number of NMR signal obtained from 105. 3ifRel ¥ w81 a1 NMR Wad 95 6

106.

107.

mesitylene is -

a3 (22
34 @1
(5) Question not attempted

5 ) B
In mass spectrum of ethyl benzene the base% 106.

appears at which m/e value?

(1) 65 (2) 106
(3) 26 @ 91
(5) Question not attempted

Which of the following elements have half-filled
f-orbitals in their ground state?

(Given: atomic number, Sm = 62, En = 63,
Tbh= 65, Gd = 64, Pm = 61)

(A) Sm

(B) Eu

(C)Tb

D) Gd

(E) Pm

Choose the correct answér from the options

- given below -

108.

109.

(1) C and D only (2) A and E only

(3) Aand B only - (4).B and D only

(5) Question not attempted _

Arrange the ions Ce?*, La3*, Pm>*.and Yb%* in
the increasing order of their size.

(1) La** < Yb** < Pm?* < Ce?*

(2) La* < Ce** < Pm?* < YD**

(3) La** < Pm?** < Ce** < YD+ .

(4) Yb* < Pm? < Ce** < La®*

(5) Question not attempted

In which diatomic molecule consists of only

J

107.

108.

109.

S
M3 (22
3 4 @1
(5) SR UeA

U 99 @ SN Weed ¥ mle & BN
A TR IR PR ure 2ar 27

(1) 65 (2) 106
() 26 4) 91
(5) SrgIRe UeA

fr=fafea 4 4 5 ot A 9@ srren
gelaele = # sid—qRe foem &?
(fer Tram 8 URAM] %Hie Sm = 62, Eu = 63,
Tb =65, Gd = 64, Pm = 61) '

(A) Sm

(B) Eu

(©) Tb

(D) Gd

(E) Pm

W Frafafed Reet § § w8 @1 =
DTy —

(1) ®aeT C T D
(3) BacT A TN B
(5) IrgIRd U=
Ce**, La**, Pm* 3R Yb** Il &1 S5 SR
% g gV 9 § FaRerd BIRT |

(1) La® < Yb3** < Pm3* < Ce3*

(2) La** < Ce?* < Pm3 < Yb3*

(3) La** < Pm?* < Ce?* < YB3 P

(@) Yb** < Pm?*< Ce®* < La3*

(5) srgxiRa U

e fguzamifas o) 3 9 feed daa

-

(2) Bad A TTE
(4) g B TID

pi (%) bond/s? q1s () %1 8 /8P
1 O, (2) N, (1) O, (2 N,
@) C; @ F, (3) ¢, 4 R,
(5) Question not attempted (5) 3IRT WA
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110.

111,

112.

113.

114.

Group of orbitals having identical values of
m+1)is-

(1) 3d, 3p, 4s (2) 3d, 4p, 5s

(3) 4s, 3d, 5p (4 3p, 3d, 4f

(5) Question not attempted ¢
Which of the following reagents reacts with
acetone, acetaldehyde and formaldehyde in
different manner?

(1) NH.OH (2) C¢HsNHNH

(3) NH,NH> (4 NH3

(5) Question not attempted

According to VSEPR Theory, the correct
decreasing order of repulsive interaction of
electron pairs is - )

pair > Lone pair — Lone pair

q10.

111.

112.

(1) Bond pair — Bond pair > Lone pair — Bondﬁ

(2) Lone pair — Bond pair > Bond pair ~ Bond
pair > Lone pair — Lone pair

(3) Lone pair — Lone pair > Lone pair — Bond
pair > Bond pair — Bond pair

(4) Lone pair — Lone pair > Bond pair — Bond
pair > Lone pair — Bond pair -

(5) Question not attempted

Which of the following group contalns only

Electrophiles?

(1) CH,SH,SF,, CH,

(3) AlCl,, SO;,2CH,

(5) Question not attempted

4 . )
@) ¢ R-0-R NO"
(4 EN,NO}sccl,

Select correct IUPAC name for structure -

~

(1) 1 — ethyl — 3,.3 — dimethylcyclohexane
(2) 3— ethyl — 1, 1 — dimethylcyclohexane
(3) 3 —ethyl — 4, 4 — dimethylcyclohexane
(4) 2 — ethyl - 6, 6 — dimethylcyclohexane
(5) Question not attempted '

113.

114,

et BT FIE RFDT (n 1) 7 A 0= & —
(1) 3d, 3p, 4s (2) 3d, 4p, 5 |
(3) 4s, 3d, 5p (@) 3p, 3, 4f

(5) SrgRIiRe 9T |

frefead § @ P afede  Tdie,

wHifoseEs T whifteess & AR =M=

YHR A AMAHAT AT 57

(1) NH.0H (2)- CeHsNHNH;

(3) NH2NH; (4) NH;

(5) Sr<iRa U

VSEPR RIET & SI9R, Saidgia gl Ef‘> qe

URIHYCT T HEl TS A 8 —

“’aagm—ae;rgm>@‘m%§m—€iaw
> Uil I — Yeblehl 7

(@) wapia T — d g > 9 T — 9 g
> Uhidh] ¥ — Tabicl i

@) gopieh g — THIB g > THIB TH —
9 g > 9 g — 9 gH

@) goicht g — THiH I > T g — A
T > U T -

(5) Srg<IRE U |

fafafeg & 9 99 9 @ 9 @dad

gelgiTeEl 87

(1) CH,SH, SF,, CH,

(3) AICI,, SO, 2CH,

(5) srgaRa we

G @ 1Y WE TUPAC A 6T - BN —

+
@ ClR-0-R NOT
(4 CN,NOS:ccl,

(1) 1 - T - 3, 3 — SRARTAR TR T
(2) 3 -TRIE - 1, 1 — SRS AR
(3) 3 — TR - 4, 4 - SEARFNRTARRIT
@) 2 — iyt —6, 6 — SEHRFARFAREAT
(5). argRiRa W

78 -
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115. Identify the pair of compounds in which 115 ARl B g & ygarFR R B AT

116.

117.

118.

hybridization of central atom is different but
molecular shape is same.

(1) XeFu, SFa. (2) NHs, CIF;

(3) BeClp, XeF> (4) SOs, CHs

(5) Question not attempted

In Infrared spectroscopy the correct order

of vC=0 stretching absorption of ‘following
compounds is -

H
CH~ t=o0 ° CH,=CH~ don cr&:t;,-— CHO
CH,
)] {n : {u
M U<IM<I @) T< <l
@B Mi<Ii<I @Di<m<I

(5) Question niot attempted

a species are equal to 23, 26 and 26 reectively.

The proper symbol of the species is -

(1) R (2) Fe**
(3) Fes* (4) Fey*
(5) Question not attempted
18- Thymol is used for -

(1) Stitching of folios

(2) Repaiting of doctuments
(3) De-acidification

(4) Fumigation

(5) Question not attempted
Sili‘ca gel is used f(;r -

(1) Repair the documents
{2) Control of insects

(3) Fumi-_gatibn

(4) Reducing humidity

(5) Question not attempted -

116.

(1) XeF4, SF4 (2) NH3, CIF3

(3) BeCly, XeFs' (4) SO3, CH,
(5).argaiRa g |
IARE WICRPIA § vC=0 & T, gL
3 R T e B R WS T —

i .
CHy;-C=0 CH,=CH- L CHZ=<|:- CHO

- cl_’s

m (mn (m
NHO<I<I . @1<u<m
(3)]]I<II<I' @DI<m<l

~ (5) 3R g

117.

118.
1

119.

(3) Fes* Ty

23,26 7d 26 € | TRfIST &1 Sugew Wi & —
(1) B 1 {2) Fe?*

(4) Fey*

©) sgRa wer
wﬂammﬁv‘mw%— ‘
(1) 7=t (wifera) o Reg (Ref) 4
(2) T=IaS] @ T §

@) S-vaiiSihae 3

@) ge= ¥

(5) SriRa ued

RIRTT et T ST e W & —
(1) SIS @ ARE A

(2 B B PR T D R

@ g H

(4) STTSET BT g B B g

(5) SrgART U
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120. In which of the following state, a Record Centre
of National Archives of India is situated?
(1) Telangana (2) Odisha (Odissa)
(3) Kerala (4) Tamil Nadu
(5) Question not attempted

‘{"21-'I‘he National Research Laboratory for

Conservatlon of Cultural Property (NRLC) has’

its main office at -

- (1) Jaipur @ Lucknow
(3) New Delhi (4)1 ‘Bhopal
(5) Question not attempted '

122. ‘Restaurator — International Journal for the
Preservation of Liﬁrary & Archive Material’ is
published from which country?

(1) Germany '

(2) USA — United States of America
(3) England o
(4) France

(5) Question not attempted

123. Out of the'fqllowing which can be used as a,des
humidifier in the storage of documents? ’

(1) Silica gel (2) Ammonia gel
(3) Ferro gel (4) Citrate gel
(5) Question not attempted

124. Who is-the author of the book tifled “The
Museum Environment™?
(1) O.P. Agarwal (2) Ranbir Kishor
(3) H.J. Plenderleith  (4) Garry Thomson
(5) Question not attempted

125. Which. chemical is used to remové pressure
sensitive tape (Cello tape) attached from the
documents?
(1) Warm Water (2) Oxalic Acid
(3) Dichloroethylene  (4) Dilute Ammonia
(5) Question not attempted

120. ﬁwﬁﬂ@aﬁﬁﬁmw#w@waﬁﬁwm‘
BT RplS By Rera &7

(1) et (2) s
(3) B (4) aferrg
(5) sraRa we |

121. i AR TIRT WRET SRR B
ey ey F8 e § —

(1) SRR () e
3) 8 et (9 Are
(5) sl e

" AN . [v) ) {
122. Q%cmca — SEIFA 9 B’ ogerE aiie

I US ameisd SARTer ?ﬁhﬁ S ¥
EEAING I
(1) s
) g oa et
(3) s
(@) wig
(5) ITART Ue ,
123ﬁwﬁr%ﬁﬁmmmmﬁvﬁ$w
ﬁ/mﬁaﬁaﬁaﬂzﬁwﬁs’rwﬁ?
) fafersr S (ﬂﬁﬁmﬁa
(3) B o @ fige S
(S)eﬁ'ﬁﬁam
124.- aqﬁlmwmﬁﬁe ZIEC2 gmqﬁb‘roﬂsﬂcb
BB

(1) A, 3prareT (2) TR m—\;

() TS Wiewier (@) sifre

' (8) sraRa we
12531%@1#%@%%@%@3@(@@&@)

Pl g<M ¥ B9 BB &1 waFT by wiyar 87

() T T @ s s

(3) SETANERRT  (4) SEwE sEIfT

(5) srgaRe we o

8-

Page 25 of 32




’ f-\ . -
126. Ojdest survive manuscript ‘Gilgit Manuscript’ is ~ 126. g urogforit “Riafia ogferl faes

127.

128.

129.

130.

housed in which archives?

(1). National Archives of India
(2 Pl)lnjab State Archives

(3) Maharashtra State Archives
(4) Rajasthan State Archives
(5) Question not attempted

Sulphur dioxide gas as an atmospheric &
deteriorating agent causes what following effect
on paper?

(1) Increase in acidity level

(2) Increase in basic level

(3) Decrease in acidity level

(4) Decrease in basic level

(5) Question not attempted u
Which of the following is known as Chiffor.ll‘? L

(1) Polyester gauze (2) Cotton gauze
(3) Silk gauze

(5) Question not attempted l

(4) Wool gauze

What is the use of Methoxy Magnesium Methyl
Carbonate (MMMC) in conservation of
docuinents? )

(1) Aqueous De-acidification '

(2) Mass Deacidification

(3) Stain Removal

(4) Cleaning

-(5) Question not attempted

Calcium hydroz?fide and Calcium bicarbonate are

used for - ,

{1) Aqueous deacidification

(2) Non-Aqueous deacidification
(3) Vapour phase-deacidification
(4) None of iche above

(5) Question not attempted

127.

128.

129.

SRCRENTR ¥ TR 87

(1) T AERTR

(2) doTe ST SRR

(3) BRI T AR

(4) TSR RToY SIRORERTR

(8) S <IRe U=

TIGRYT & BRB P TR IR bR SSIAFASS
i ore ) FrEfalRaa § 9 1 g9T sierd!
A :

(1) 3r<iRaT wR 4 gfg

@) e wR Y qhE ‘

(3) IrfigeT R # B

(4) TR wWR § B

(5) SR U
fer=iferRaa § & fraaT Rpa w8a 87

(1) diforeeR IS (2) gft e

3) Riee (3M) o9 (4) S TS

(5) SrT<IRT U=

e aiftvore e ¥ FRy &7

(1) ey fSereliaRor

 (2) 919 SereiiaeT

130.

(3) g T

(4) TB1S
(5) Srg=ilRe 9
TRINT fopa o & —

(1) S S—hifsfraea

(2) = Sl S-vdifsfraer.
(3) a1 B S-gHIfShoheT
@) SR F | B &

(6) drgaa U
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| V. .
131. Which poisons are used to kill rat? 131. 9 & Wi} Pl B ART & e SuanT 4 o

A. Zinc phosphide ST &7
B. Arsenious oxide A. Si% BIHTES
C. Thymol B. 5
D. Warfari «
. ari o
! | D. dRBRA
WAB&C @A C&D () A, BaRC (@ A, C3RD
@ AB&D @B,C&D (3 A, B3R D @ B,C3iRD
(5) Question not attempted (5) IR U |
182.To control and monitor environment in the 132 STANY WREwT & IR W wiaRe & PR T
preventlve conservation, which of the followmg A %'gf BET SOE 9urg &7

is a best option?

(1) Proper ventilation of area . () &= .Eﬁ S FareR e

(2) Installation and use of air condltlomrﬁ (2) IR T P ARSI T W‘W
system _ (3) STaREN Tl BT RN B *

(3) Use of de-humidifiers elements (4) W& I ST 9T RS

(5) SrgaiRa ue
(5) Question not attempted .
133. What is the requirement of GSM of the tissue  133- el &) oo & ST ¥ .M aral

(4) Proper air circulation maintenance

paper used for repair of records? \ feey 9uR @1 GSM: (M wfar geiiieR) &1 =
RIAARERE< 3 iﬂ‘%q?
(1) 13-15 (2)5-7 ‘ Ll )
| (1) 13-15 @5-7
@®9-11 @7-9
. . ®9-11 @7-9
| (5) Question not atteripted (5) &ﬂ'ﬁﬁﬁ T ‘
134. The author of the book “The ‘Conservation of 134 "<} EEGTEVTEFI i god U SieficH” Td D
, Books and Documents” is - qGF g —
(1) T.R. Schellenberg (2) V.V Talwat- (1) 3R, et (2 9141 JeEr
(3) Y.P. Kathpalia (49) W.H. Langwell (3) A, FHouferm (4 S=yTE. e
(5) Question not attempted (5) argaRa U=
y
135. Fungus growth on organic object taken place in  135- 93w a¥gell @iFiFe sifcided) w® whe
the presence of - el AISEAT F Tl 27
. ... (A) ST AT
(g) Eﬁlgﬁ humidity bove §0°C . (B) $= A9FN (60°C dfeaa< 3 aﬂﬁ?ﬁ)
(B) High temperature above 60 . (C) 59 AN (dfeve TaRER) 30°C - 40°C
(C) Moderate temperature (30°C - 40°C) : (D) T E’g =T
(D) Stagnant air e —
Code -
@ A, C (4) B.D 3 A, C. @) B,D
(5) Question not attempted (5) ST e )
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136. Which properties of paper will measure how 136.
well paper can be folded and creased without
breaking? .

(1). Tear Resistance  (2) Burst Strength
(3) Folding Endurance (4) Opacity
(5) Question not attempted

137. Which of the following insect creates tunnel like 137

narrow holes through the covers & pages of book

in its pupa-or larval stage? !,
(1) Cockroach (2) Book Beetle
(3) Booklice (4) Termite.

(5) Question not attempted

138. The use of ‘Compressed Air’ technique is meant ~ 138-
for which of the following? '
(1) Cleaning of documents
(2) Drying of documents
(3) Fumigation of documents
(4) Washing of documents
(5) Question not attempted
139. In which method of de-acidification Ammonium 139-
hydroxide is used?
(1) Non-aqueous de-acidification
(2) Vapour phase de-acidification
(3) Aqueous de-acidification
(4) Dry de-acidification
(5) Question not attempted
140. What concentration of iron is prescribed for 140
permanent ink by Bureau of Indian Standards?
(1) 0.4% () 0.15%
(3) 0.35% 4) 0.1%
(5) Question not attempted

141 Which of the following biological factor o

deterioration is responsible for decomposition
of cellulose?

(1) Termites (2) Silverfish

(®) Psocids - (4) Fungi

(5) Question not attempted

Frefefag & 9 eivar 799 & 7 e & e
o< fpa ol e HieT SR Wi far on
e ¥

(1) foeR yRRE@war (2 Hew @) arad

(3) BIfeET svegya  (4) SrafRia

(5) SrgilRa u

7. ffoafea § | @9 Pic g uT a1 @i

srqeerr ¥ € fpa 31 g 9 gt%’rfr“\ngm
Udel BE §EET 87

(1) Bl (@ g% dicd

(3) gwerrsd @) €%

(8) sFEiRa W

AT T (FBRS TAN) B APAS BT TGN
frfarRaa ¥ @ fraa R s 27

(1) SRS BT |6 B &G

(2) TSI B gE™ 8g

(3) TEAISI B I &g

(4) TSl BT gers '

(5) srg<IRea U=

S-viifrew @& fFa @ § mitE
TIESITaTSS BT TN BIAT &7

(1) R—<rei S—yfsfhraes

(2) 97 - e

(3) wichy S—wfefhadeE

@) g5 S-yanshoer .
(5) SR U

- IRT AME IR B INR WIE WE & firg

AR B IrFEdl (ORI BE ARy —

(1) 0.4% (2) 0.15%

3) 0.35% 4 0.1%

(5) SrgiRe ued

fEfafag & 9 59 @1 aﬁw 9w ucs
AT B ATECH BT STRGR 87

() S | (2) Ry fomer

(3) BiRreE @) Hd

(5) argeIRd g
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142: When are enzymes used in conservation of =142 SwdEe ER&Ol ¥ USEH &1 SUAN & fhar

143.

144.

145.

documents?

(1) Brittle documents

(2) Insect infested documents 1
(3) Separation of stuck-up sheets ‘ﬁ
(4) Faded documents o
(5) Question not attempted

Foxing on paper is a -

(1) Green colour spot on paper

(2) Brown colour spot on paper

(3) Purple colour spot-on paper

(4) Blue colour spot on paper

(5) Question not attempted

What is the recommended level of ‘copper
number’ for the paper for permanent records?h
(2) 4 Maximum

(4) 1 Maximum

(5) Question not attempted

(1) 2 Maximum
(3) 3 Maximum

What is the duration for which ‘Accelerated °

Ageing Test’ conducted on paper?;.
(1) 72 hours (2) 24 hours
(é) 48 hours (4) 96 hours
(5) Question not attempted

143.

144.

ST &7 ‘

(1) qR (feer) awamEs

@) P TE TERS

(3) et g3 =i B ST B
@) wis (BSs) <|ES

(5) SRIRT weA

BRI TR BT T 82

(1) &R YT BT =T B TR

(2) s T BT AT BRI W

@) I T BT gH BTSN
(4) el T BT g1 BRI W
(5) SrIRT Y% HITS WR '
IR PR <q”’ fpeer 87

(1) 2 arf¥rEeE (2) 4 siferpaw
(3) 3 sTErHaH (4) 1 e
(5) SrRIRE T :

145.

DTS R 5 S arel A TG WA @
ey = Bt 87 |
(2) 24 Foe

(1) 72892
(3) 48 g2 | (4) 96 g
- (8) srpaRa v '

146. What materials should be repaired by mixing 146- <7 917 diy dav1 & b w1 YT UTSSN Fiemax
two parts of bees Wax’ with one part of powdered 5 9mERE & = 25 o aIfRT?
resin’ () =& g8 e (2) wEE TR
(1) Broken seal (2) File cover 8
(3) Broken needle (4) Brown papér @ g w (4) 1S YR
(5) Question not attempted- (5) Srg=iiNG U
147. Rajasthan State Archives V\\/as set up in which 147 RIM W0 SROERIR b, af # <o
year? fapar Trm? '
(1) 1956 (2) 1953 (1) 1956 (2) 1953
(3) 1955 (4) 1954 (3) 1955 4 1954
(5) Question not ‘attempted ' (5) sTaIRa we
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. 148.

149.

150.

(1) Termite repellent

Naphtﬁalene balls/bricks is used as -
(2) Fungus repellent
(3) Rodent repellent  (4) Insect repelient

(8) Question not attempted

Which of the following chemical is especially

recommended to remove the stains of

Tea/Coffee from a document?
(1) Potassium perborate

(2) Oxalic Acid

(3) Potassium bi-oxilate

(4) Sodium sulphite

(5) Question not attempted

Aqueous de-acidification is applicable only for
documents which are written with - )

(1) Water soluble ink

(2) Water resistant ink

(3) Typewriter ink

(4) Ink made from dyes with low colour fasteners .

in water

(5) Question not attempted

148.

149,

150.

AefferT dfeq /e @ SuAT § @ § —
() S Y WY (@) By e
@gEi T HE () Pl B WM A
(6) srgaa ued

élﬂ'%l%lﬁﬁ I BFET WA fH 1aee |
T/ HH B YN gem © g fasiwan
3rRifRT famar wimar 872

(1) UM wRERE

(@) st TS,

(3) UicRrm srssiifavce

(4) |ifSTH AewIse

(5) rgaRa ueA

el SI—STeldHRY DI 89 Sxaldoll P forg
AR Biar 8, o forar war g -

(1) 911 ¥ goRie el |

(2) Vet wfoREN | 9§

(3) TrguvEeY W ¥

@ gl § o9 7 Rerar arel T 9 T+ ==
B

(6) argalRa we
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